plot.design
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import sys
sys.path.append("statlib")
from plot import plot_design

plot_design(data, FUN=np.mean, verbose=True)
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import numpy as np
import pandas as pd

x1 np.repeat([1l, 2, 3], 10)
X2 = np.repeat(["male", "female"], [5, 25]) # B &ERBU c(rep(l, 5),




rep(2, 25))

y = [-0.37, -0.41, 0.98, -0.36, -0.32, 1.28, 0.95, 1.07, 1.13,
-1.03, 0.78, 0.76, 0.54, 0.89, -1.05, -1.04, 1, -0.05, -0.8,
-0.17, 0.33, -0.19, 0.63, 0.04, -0.12, -2.03, 2.45, -0.44, -2.42]
data = pd.DataFrame({"y": y, "x1": x1, "x2": x2})
import sys
sys.path.append("statlib™)
from plot import plot_design
a = plot_design(data)
function: mean
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np.random.seed(1239)
y = np.random.normal (50, 10, 200)
varl = np.random.choice(["A", "B", "C", "D", "E"], 200)
var2 = np.random.choice(["hi", "med", "1lo"], 200)

var3 = np.random.randint (10, 15, 200)
var4 = np.random.randint(l, 5, 200)
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data

a =

np.random.randint(l, 5, 200)
pd.DataFrame ({"y":
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var4,

plot_design(data,
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FUN=np.median)
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function: median
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